ooon

Defenition of Group

00 1000~3.000000 GOOOO -00000 (group)0000DOOO

0.GO000-0000000 (closed) 0 OO

1. Va,b,ce GOOOO
a-(b-c)=(a-b)-c

0000000000000 (associativity) 0000
2.YVae GOOOO

O000eeGUUUOOOOeO GOOOO (identityelernent)I:IDDDk2

3. YVaecGOOOO
a-b=b-a=e

000 beGUOOOOObLO a000 (inverse element) 000 0e ' 0000
01 NOOO.-OO0D0DO0000000ooooooooooooos
0 2zZ000-00000000000e€ez000000Oooom
03000000000 RTO000000O00O000O0O
040000000 ROOODOOODOOOOO
00 20 GOOO -0000
4. ¥Ya,b000000000 (commutativity)
a-b=b-a

O0D0000000G 0000 (commutative group) 10000000 (abelian group*) O
ooo

05 G={1,-1}000000000000
06G={l,-1,i,—i}(i=+/-1)000000000000
000000000000

00 10 GoOo0o0000ooooooo

100000000 GOOOO0O0000000000D0O0000D000000N00N0N0N0N0oo0N0Nnoooon
*2e000000 Einheit(000 unit) 00000000000

¥ O00000000000000NODOOOOO0O0000000 NOOOOOOOOOOO00000000000000
* 0000000000 0000000000000000000000
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1. 000 eO000 (unique) 0000
2.Vaee GOOOODOO ¢ '00000ODO

1. 00000 GUO00000O0000DO0000ODOU0OD0ODUODODUOO e, O0DDOO

ERN

00000000 e=¢000000000000000O0UODOODOOOOODOOOOOO

goooooo
2. 0000«00000000000b,cO00000D0OOODO
ab=ce
goodood cggggd
cab = ce
eb=ce
b=c
0oodoooooooooobobobobboDb e0D0ODOODODODOOOO googooood
00 20 GGoOOO0O0OO0O0O0O0OoOoOoOooon
l.el=e
2. (ab)"t=b"ta"?
(aHl=a
1. 0000
ee=ce
OO0 el e00O0OOOO0O oonooooo
2. 0000
(ab)(ab)™' =e
a{b(ab)™'} =e
a ta{blab)™'} =a"te
e{b(ab)™'} =a"te
b(ab) ™t =a™!
b= 'b(ab)"t =b"tat
(ab)™t =b"tat
googooood
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3.ac '=e000000 ¢ '0000 «000O0OOO0OOOOOO

(@)t =a

gobogooo
00 30 GoO000ooooooooon
l.ar=ay=2=y00000
2. Va,be GOOUODO ax=b000 e GUOOOUDMUOOOOOOUOOO
1.0000ar=ay0000000 «'0000
ailaxzaflay
er = ey
=y
goooooo

2. aa7tb=b<=a(ab)=b000 az=b000 x00000002z=0¢"00000000000

0000000000000 000000000 GUOODO0O0DOO(G,e)0000DOODOODDOO
goooooo

00 3 0000000000000 (order) 00000000000 DODOOODOOO

ggoo

1] 000000000 <http://ja.wikipedia.org/wiki/>
2 0000000D0O000moOoooo200300
3] 0000000000 OD0OO0D0OODOODD200400000
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